1987 4E 50k B AR [2]

X y) & (@2 W)RERZRTLHRZ ML ThbEE, NENR0OTHLIND  xz+yw=0 —O

(%, Y)A=(ax+cy, bx+dy) & (z, WA= (az+cw, bz+dw) NELZTHX7 ML ThHhHEE, DXV
(ax+cy)(az+cw) + (bx+dy)(bz+dw)
=a’xz+ac(xw+ yz) +c?yw+b?xz+bd(xw+ yz) + d 2 yw = (a® +b?)xz+ (ac+bd) (xw+ yz) + (c? +d ?)yw

=(@%+b?—c?—d?)xz+(ac+bd)(xw+yz) =0
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a’?+b?-c>-d?=0 —©@ ac+bd=0 —®
®&bv ac=-bd a’c?=b%d?
@omiza? T 5L a?(@®+b?)-a’c’—a’d? =a’(a® +b%)-b?d? -a’d? = (@’ +b?)(@*-d?)=0

kv, a?+b?=0F71Fa’?-d?=0Th %,
a?+b?=0m L x a=b=0Th51bH. @V c?>+d? =0T, #J/§ .a=b=c=d=0

d?=a’mrtx @Xv b%2-c?=0 c?=b?
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d=az0ntx @XLY alc+b)=0 c=-b

d=-az00t& @XY a(c-b)=0 c=b
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va? +b? va? +b?
a b 2 cosd sin@

A= = a +b
-b a —-sin@ cosd
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